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[x(1+x) dv=x (1 +x) —jﬁ(l+x) dx = =x(1+) —ﬁj(1+x) dx =

u=x=du=dx
11
1
a’v=(1+x)1°a’x:>v=J.(1+x)10a’x=szdzzZl—l=ﬁ(l+x)11
27. z=(l+x)=>dz=dx
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—x(1+x)" =—(1+x)""| x——({+x
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" u?  (1+x)"?
u=(1+x):>du=dx:>_[u du=—=
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3—)fdx = J3xe_xdx =3x-—€e" - J.—e_x 3dx =-3e" + 3_[ e‘dx=—3xe " +3-—e"=-3xe " -3¢ =3¢ "(x+1)
E

u=3x = du=3dx

dv=e“dc=>v= J.e_xdx =— J‘ede =" =—¢ "~ Use the same process

z=—x=dz=—dx = —dz=dx
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dx-—zx(x+5) +§j(x+5) dx =

u=x=du=dx
-2 -2
dv=(x+5)_3dx:>v= J(x+5)_3dx= J'Z‘3dZ=Z_2=M

29. - —2
z=(x+5=dz=dx

—%x(x+5)2 +%.—(x+5)‘ z—%(x+5)2 (x+(x+5))=—%(x+5)2(2x+5)

-1
u=(x+5):>a’u:abc:>_[u_za'u:u—l:—(x+5)_1
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- 2 22 22 B2 = dpt @2 L9 2
J\/;ln\/;dx = sz Inx2dx=Inx? -—x2 — J—xz c—x"'dx ==x2 Inx? ——szdx =—x2Inx?——-—x?
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Same process used

31.
1 1 1 1 1 1 1 1
J‘x*3 Inxdx=——x" lnx—J‘——)f2 —dx=——x"" lnx+—J.x*3abc=——x*2 Inx+—-——x2=
2 2 X 2 2
1
u=Inx=du=—dx
X Same process used
2 1
dv=x"dx=v= J.x’3abc=x—=——x’2
- 2
1 1 1
——x7Inx——x" =——x2(1nx+§]

32.

J.x5 sin(x)dx = Jx3 - x* sin(x”)dx =x’ -—%cos(f) — J-—%cos()f) 3x’dx = —%xS cos(x’) + Ixz cos(x’)dx =

u=x"= du=3xdx

1¢. 1 1
dv=x"sin(x’)dx = v= Jx2 sin(x”)dx =§Js1nzdz =——cosz=— —cos(x3)
\ 5 1 3
z=X =>dz=3x"dx = —dz=x"dx
—lx3 cos(x’) + lsin(x3) = —(x3 cos(x’) + sin(xs))
3 3 3

1 1 1 1
u=x"=du=3x"dx = —du=x’dc = —J.cosudu =—sinu = —sin(x3)
3 3 3



